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IMPORTANT INSTRUCTIONS

. This Question Booklet is divided into two Parts, Part-I and Part-II. Part-I contains questions of

GENERAL STUDIES. Part-II contains questions of BUSINESS STUDIES.

. Part-I consists of Question Nos. 1 to 40 and Part-II consists of Question Nos. 41 to 120.

All questions and their responses are printed in English as well as in Hindi versions.
All questions carry equal marks.
Attempt questions from Part-I and Part-II.

Immediately after commencement of the examination, you should check up your Question
Booklet and ensure that the Question Booklet Series is printed on the top right-hand corner
of the Booklet. Please check that the Booklet contains 48 printed pages including two
pages (Page Nos. 46 and 47) for Rough Work and no page or question is missing or unprinted
or torn or repeated. If you find any defect in this Booklet, get it replaced immediately by a
complete Booklet of the same series.

You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Roll No., Question Booklet Series and other particulars in the space
provided on Page-1 of the Answer Sheet provided, failing which your Answer Sheet will not
be evaluated.

. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is

printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint pen in
the space provided on Page-2 of your Answer Sheet. If you do not encode or fail to encode the
correct series of your Question Booklet, your Answer Sheet will not be evaluated correctly.

Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY ONE
correct response and mark it in your Answer Sheet. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in
the Answer Sheet.

In the Answer Sheet, there are five circles—@), B, ©, © and ® against each question. To
answer the questions, you are to mark with Black/Blue ink ballpoint pen ONLY ONE circle of your
choice for each question. Select only one response for each question and mark it in your Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong.
Use Black/Blue ink ballpoint pen only to mark the answer in the Answer Sheet. Any erasure
or change is not allowed.

For each question for which a wrong answer has been given by the candidates, one-fourth of the
marks assigned to that question will be deducted as penalty.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer Sheet
to the Invigilator. Thereafter, you are permitted to take away the Question Booklet with you.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide at their discretion.

Candidates must assure before leaving the Examination Hall that their Answer Sheets will be kept
in Self Adhesive LDPE Bag and completely packed/sealed in their presence.
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1.

3.

PART—I

( GENERAL STUDIES )

How many three-digit numbers
are divisible by 5?

(A) 180
(B) 200
(C) 120

(D) More than one of the above

(E) None of the above

The value of

bl

is

(A) 605
(B) 30-0
(C) 405

(D) More than one of the above
(E) None of the above

The distance between Delhi and
Agra is 200 km. Suppose you
are travelling from Delhi to Agra
by a car. If you can maintain an
average speed of 90 km/hr for
120 km and 40 km/hr for the
remaining distance, how much
time will you take, on average, to
reach Agra?

(A) 3 hr 20 min

(B) 3 hr 30 min

(C) 4 hr 45 min

(D) More than one of the above
(E) None of the above

18/HV/M-2023-01-30 (HS)/36-A

4.

10% loss on selling price is what
percent loss on cost price?

1
() 9%
(B) 91—21%

(C) 10%
(D) More than one of the above

(E) None of the above

A pizza boy delivered two-fifths of
his pizzas on day 1, three-fourths
of his pizzas on day 2 and % of

his pizzas on day 3. On which
day did he deliver the most
pizzas if he had the same
number of pizzas in the
beginning of each day?

(A) Day 1

(B) Day 2

(C) Day 3

(D) More than one of the above
(

E) None of the above

The cost of carpeting a room
18 m long with a carpet 75 cm
wide at ¥ 4-50 per metre is ¥ 810.
The breadth of the room is

(A) 7m

B) 75m

(C) 8m

(D) More than one of the above
(E) None of the above



PART—I

( GENERAL STUDIES )

1. 9 3t & foradt o= 5 9 fawrsy

g?

(A) 180

(B) 200

(C) 120

(D) 39w | ¥ UF ¥ M+
(E) 3w & @ 18 Tt

. (1+;j(1+;)(1+i)...(1+1;())
FTHAE

(A) 605

(B) 300

(C) 405

(D) 3 U | UH A Al

(E) 3udth § @ g T

. g iR smm ow dfw #woF
200 ko Mo 7| 9M fifvw 319 fagh @
I TH FR T ST & | I W
120 fRo o & forw  ofto@ g
90 oo o /Ho 3R aEh T & fow
3irEd Tfd 40 foho Hio /Ho sHTT @ €,
@ AR AT Tge H e fopaa
ug e

(A) 3 =1 20 fime

(B) 3 e 30 fime

(C) 4 =1 45 fiFe

(D) 39w H ¥ UH ¥ i+

(E) 3w & ¥ 18 T
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4. foFa 99 W 10% H &M, | 9o

W e wicerd &t g1 87
(A) 9%

B) 92%

(C) 10%

(D) 39w H & TH ¥ ik
(E) 39 | | =I5 T

. & s aren e fq q-uted fos,

| fed dH-=emg fosn o fw e
T Torstrat = forqeor e 21 =t s
7 &t YeTa | 9ok 98 9HE g o
fos 9, 4 s fore foq o=@ il
forer ferafea foru?

(A) vEa T

(B) T fo
(C) o fam
(D) 39w H ¥ TH ¥ ik
(E) 39 # & I 7

. 18 e @ uw FW H, 75 Fo Hio

e e T ITAN oleh, Teitar fos™
& @ € 450 ufd Hiew B ow 9
¥ 810 B ®m i =rers 2

(A) 7 #He
B) 7-5 HiX
C) 8=
D) 39 U ¥ U ¥ Afh

(
(
(
(E) 39w 8§ @ *I§ e

(AT po.o.



7. Two persons A and B complete a 9.

task in 15 days, when they work
together. Person A completes the
task in 20 days if he works
alone. How many days will B
take to finish the task alone?

(A) 35 days
(B) 25 days
10.
(C) 60 days
(D) More than one of the above
(E) None of the above
8. The sum of the numerator and
denominator of a fraction is 11.
If 1 is added to the numerator
and 2 is subtracted from the 11.
denominator, it becomes i The
fraction is
5
A _
® 2
6
B —_
®) -
12.
3
C _
© 3

(D) More than one of the above

(E) None of the above

An isotropic source of 2 candela
produces light flux equal to

A) 27 lumen
B) 4n lumen

(
(
(C) 8m lumen
(D) More than one of the above
(

E) None of the above

The spray bottles used as
window or household cleaner or
perfume sprayer work on

A) capillary action

B) Bernoulli’s principle

(
(
(C) Pascal’s law
(D) More than one of the above
(

E) None of the above

The trade name of basic lead
carbonate is

A) white lead
B) red lead
C) litharge

(
(
(
(D) More than one of the above
(E) None of the above

Which of the following elements
has the largest atomic radius?

A) Lithium
B) Beryllium
C) Boron

D) More than one of the above

(
(
(
(
(

E) None of the above
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7. T ARE A IR BUS &M & 15 fai & 9. 2 %Sl H1 Uk GHIGEH HId SIaT Jehrat

T K A 8, AR 9 TH A1 FW FA B oTad UeT LAl 8, 9% ©
=Rk A 3Thall IH %M & 20 faai # (A) 21 TEA
A 3| T AW el Bt ®) 4n e
fot # g = Y ©) 8n =
(A) 35 ft & (D) 30 # & TF & Afereh
(E) 37t o & I8 7

(B) 25 fei o

10. It a1 =i Fele a1 TRHE BRR & &9
(C) 60 fei d 3 orme B oy A @ A

, frfefiga & @ frg w om Fdt 87

(D) 39w H ¥ UH ¥ M A) o G
(E) 9 & & F1 7 B) et @1 fargra

D) 39w § € UH ¥ 3A(Ueh

8.@&?%@3‘[@’(?@@“11%| E) @éﬁﬁﬁaﬁéqﬁ
e I A 1 Wie fer S iR A 9
2 w21 foo <, A T 2 B W 31 fir 11. & (Af4) @ FEHe F1 A
3
H T2
(A) e (B3 ©I8)
(A) Z B) fog (= @)
(C) faemst
(D) 3ugw | § TF @ Al
B g (B) g 7
12. fr=fafaa & @ fra o i awm Bren
3 oy € 87
c) =
( 8 (A) ferform
(B) aftferam
; (C) R
D 19 s e
S (D) 3w | O wH ¥ Al
(E) 30 § ¥ HI5 T (E) 37w § & #15 7E

18/HV/M-2023-01-30 (HS)/36-A 5 IEURHERTEAn i e.r.o.



13.

14.

15.

16.

The phenomenon
periodism  in
discovered by

(A) Garner and Allard

(B) Steward and Salisbury
(C) Thimann and Skoog

(D) More than one of the above
(E) None of the above

of photo-
plants  was

Silent Valley of Kerala is

preserved because

(A) it contains very rare species
of plants and animals

(B) the soil is rich in minerals

(C) the areas of land were used
extensively for agriculture
purposes

(D) More than one of the above
(E) None of the above

During normal respiration in a
mammal, the diaphragm is

(A) arched

(B) flattened

(C) lowered

(D) More than one of the above
(E) None of the above

The most important cell type
associated with the immunity of
the body is

(A) platelets

(B) lymphocytes

(C) RBCs

(D) More than one of the above
(E) None of the above
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17. The book entitled, Gyan Deepak

18.

19.

20.

was authored by a great saint
(A) Salar Masood Ghazi

(B) Dariya Saheb

(C) Imam Shah Faqgih

(D) More than one of the above
(

E) None of the above

Which agency in India has
launched UTSAH portal?

(A) UGC

(B) AICTE

(C) MCI

(D) More than one of the above
(E) None of the above

A. P. J. Abdul Kalam Satellite
Launch Vehicle Mission was
launched on

(A) 13th February, 2023
(B) 20th February, 2023
(C) 19th February, 2023
(D) More than one of the above
(

E) None of the above

In which city was the first
pure green hydrogen plant
commissioned?

(A) Hyderabad

(B) Mumbai

(C) Pune

(D) More than one of the above
(

E) None of the above



13.

14.

15.

16.

Nt & yifipTierar it @ist i 9Tt §
(A) TR 3 T

(B) waE iR dferosdt

(C) offfa 3R @

(D) 3w U | UH A Al

(E) 3udth § @ 1S T

e hi wa T (Frgeie Ift) Gl

7, Fifh

(A) TE| qE SR SHA Al Sgd @
ESEREITRRIRIFAS G

(B) it wfil & Wy &

(C) FW WSHN & fou | & &= =
S 99 9T I foRET St o

(D) 39w H ¥ UH ¥ M=

(E) 3w @ 4 ¢ T

TR § A Y98 % SR SRTHEH
BT E

(A)  EIITRR

(B) =me

(C) = e gam

(D) 39w § | TH § Afh

(E) 304w & § rg 7

R A yfelius amar @ I wd
Hequl HIfITRT TR B

(A) @i

(B) ferrrarse

(C) 3o dfio Hio

(D) 39w W § UH § AfUh

(E) 3udth & & *1$ 7
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17.

18.

19.

20.

T &i9e A g hl T e 7
| o I off?

(A) HER HEE S

aRd # fore weiEl 7 UTSAH 9ied &1
TRy T 27

To o Sfo 3egal HAM HoATge Al
e T =l o= fomam o

(A) 13 wEd, 2023 H
(B) 20 ®adl, 2023 @
(C) 19 wadt, 2023 =
(D) 37w U 4 T ¥ Afw
(E) 3wt d & *Ig 7

fora et ® v 33 BN eRgieH W
1], ferarm T en?
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21.

22.

23.

24.

Which year has been declared
by the UNO as the International
Year of Millets’?

(A) 2023
(B) 2022
(C) 2024

(D) More than one of the above
(E) None of the above

Who among the following won
the 2022 Nobel Peace Prize?

(A) Ales Bialiatski

(B) Nadia Murad

(C) Maria Ressa

(D) More than one of the above
(E) None of the above

Who is the Chairman of the
State Commission for Backward
Classes appointed by the Bihar
Government on 2nd January,
20227

(A) Justice Sanjay Kumar

(B) Justice  Balmiki
Sinha

(C) Justice Igbal A. Ansari
(D) More than one of the above
(E) None of the above

Prasad

Which was the first movie in

Bhojpuri?

(A) Ganga Maiya Tohe Piyari
Chadhaibo

(B) Kanyadan

(C) Nadiya Ke Paar

(D) More than one of the above

(E) None of the above
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25.

26.

Arrange the following thermal
power projects of India from east
to west :

1. Kota

2. Namrup

3. Obra
4. Parichha
Select the correct answer

using the codes given below.
A 1,2, 3,4

B) 2,4,1,3

< 2,3,4,1

(D) More than one of the above

(E) None of the above

Which type of climate is in India
according to Trewartha?

(A) Savanna type

(B) Subtropical monsoon climate
(C) Mediterranean type

(D) More than one of the above

(E) None of the above



21.

22.

23.

24.

Y Y 99 3 foRE ¥l CSraug
fircte o =nfya femem T 27

(A) 2023

(B) 2022

(C) 2024

(D) T & & T @

(E) 3w | § Hig Tl

frafafaa § @ faa 2022 &1 Fi9w
ifd gEERR Sfrar?

(A) TerE forfermesht

(B) rfean qwe

(C) wfEm T

(D) 30 U | UH § Afeh

(E) 393t o & I8 7

2 S, 2022 H foErR WER 3w
g v foe il smm % e
FE 27

(A) =i g $ER

(B) =arfd smeifer wome fomar

(C) =M gohaTel To AT

(D) 3 U ¥ UH § Afeh

(E) 3ww & 9 18 T

Jiegd it veelt fhem -t off?
(A) T BT ale ot =@ggEt
(B) &6GH

(C) Afem & IR

(D) 39Yw | ¥ TH ¥ 31fe
(E) 3udth & & 18 7
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25. 9N % {ffad oHe aet TSl i

26.

Td § ufeem fewn o =afea fifw

H= fau MU e W TN W Ad W
EGL

A) 1,2, 3,4
(B) 2,4,1,3
C) 2,3,4,1
(D) 3w 4 4w U Afusw

(E) 30w | ¥ 18 e

feanart & IgER WRa Al Sieay R
TR T 77

(A) HEHET YHR

(B) SIS WA ey
(C) YHEIHTHI TR

(D) 37w ¥ 4 & ° Afh

(E) 39w 8§ @ *I§ e
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27. What 1is the

28.

29.

normal date
of withdrawal of south-west
monsoon at Hyderabad?

(A) 1st October

(B) 15th October

(C) 1st November

(D) More than one of the above

(E) None of the above

Which of the following States
has maximum urbanization?

(A) Goa

(B) Maharashtra

(C) Karnataka

(D) More than one of the above

(E) None of the above

‘Malnad’ region is associated
with which of the following
plateaus of India?

(A) Telangana Plateau

(B) Maharashtra Plateau

(C) Karnataka Plateau

(D) More than one of the above

(E) None of the above

18/HV/M-2023-01-30 (HS)/36-A

30. South Peninsular Upland is a

31.

32.

part of

(A) Gondwana Land

(B) Laurentia Land

(C) Antarctica Continent

(D) More than one of the above

(E) None of the above

The percentage of population of
Bihar with respect to India’s
total population is

(A) 8:58%

(B) 10-10%

(C) 12:25%

(D) More than one of the above

(E) None of the above

Which of the following pairs
is not correctly matched with
respect to south of Ganga region
in Bihar?

(A) Patna-Munger

(B) Gaya—Arwal

(C) Patna—Vaishali

(D) More than one of the above

(E) None of the above

10 [ EMHNTOETH0R A



27. 2eUEE H Sfe-gfeaw gy ol et

28.

29.

it T oy @ 27

(A) 1 FHR

(B) 15 3FHR

(C) 1 7a=R

(D) 3w W | UH § Afh
(E) 3udth § @ s T

fefafiaa & @ frm o9 9 T
Heiteres 27

(A) T

(B) #erE

(C) HAleH

(D) SW® | § TH ¥ Mo
(E) 3w & 9 18 T

‘Arere’ &9 o grery fAefafiaa 5 9
A % fhE 18R ¥ 27

(A) dEHTHT T TSR

(B) WERTg %l SR

(C) Tk T USK

(D) 39w H ¥ UH ¥ i+
(E) 3udth & & *r8 7
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30. cfeoft yrgda s=ygfa w1 am R

31.

32.

(A) TS T

(B) M ot

(C) 3TeTehicsht HeTET

(D) 39w H & TH ¥ ik
(E) 39w 8§ @& I8 e

IR il Pl SO % due foEr i
SEET 1 gfaed = 2?

(A) 8:58%

(B) 10-10%

(C) 12:25%

(D) 39w H ¥ TH ¥ ik
(E) 39w 8§ @ I8 e

fafafaa & 9 wH-w e foer &+
gf&qor T &7 O A A=Y @rar 87

(A) TR

(B) TEI-3REA

(C) ueT-amedt

(D) 39w H & TH ¥ ik
(E) 39w 8§ @ *I§ e

11 (AT poro.



33.

34.

35.

36.

Who is called the “Prophet of
New India’?

(A) Raja Ram Mohan Roy

(B) Dayananda Saraswati

(C) Dadabhai Naoroji

(D) More than one of the above
(E) None of the above

Which revolt is mentioned
in Anandamath of Bankim
Chandra Chattopadhyay?

(A) Sannyasi

(B) Santhal

(C) Indigo

(D) More than one of the above

(E) None of the above

Who was the founder of
‘Abhinav Bharat’ in London?

(A) Vinayak Damodar Savarkar
(B) P. M. Bapat

(C) Shyamji Krishna Varma
(D) More than one of the above

(E) None of the above

Where was the Ghadar Party
established?

(A) France

(B) Germany

(C) United States of America
(D) More than one of the above
(E) None of the above

18/HV/M-2023-01-30 (HS)/36-A

37. Who was appointed as the
‘Commander in Chief’ by Birsa
Munda?

(A) Demka Munda

(B) Gaya Munda

(C) Sundar Munda

(D) More than one of the above
(E) None of the above

38. Who formed the Bihar Socialist
Party?

(A) Phulan Chand Tiwari and
Rajendra Prasad

(B) Phulan Prasad Varma and
Jayaprakash Narayan

(C) Raj Kumar Shukla and
Swami Agnivesh

(D) More than one of the above

(E) None of the above

39. In which year was the ‘Bihar
Provincial Congress Committee’
formed with its headquarters at
Patna?

(A) 1908

(B) 1910

(C) 1906

(D) More than one of the above
(E) None of the above

40. Who established a branch of
the Anushilan Samiti in Patna
in 1913?

(A) Ramananda Sinha
(B) Satish Jha
(C) Sachindra Nath Sanyal
(D) More than one of the above
(E) None of the above

12 IR e



33.

34.

35.

36.

‘TIIRA 1 PR HH FHETd 27
(A) TSI qHEEA T

(B) <IM=< |L&dt

(C) =Terrs st

(D) 39y H ¥ TH ¥ 31fe

(E) 3udth § @ g T

SfehH =g TR % 37H<H3 H TR
fargie =1 3g@ 77

(A) "=t

(B) @~UTeT

(©) i@

(D) 39w § | TH | AfIeh

(E) ST & & 1S e

T B ‘oafia aRa’ 1 e @i
or?

(A) ToTIe THIET ATaREt

(B) dio THo w9

(C) TSt oo gut

(D) 30 U | UH § Afeh

(E) 3w & @ 18 7

TeX i hit T Rt W g oft?
(A)

(B) mit

(C) HIF TA FAfH

(D) SWI® | € TH ¥ 3Meh
(E) 3udth # & 18 7
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37. foran guen g fordenl “Tet ¥ <%

38.

39.

40.

IERGAERIRICIIN
(A) HeT HUeT
(B) T el

(C) g=Rygrer

(D) 39w H & TH ¥ ik
(E) Swith d & =*Ig 7

forer worstandt a1 e fRei foRm

oqr?

(A) g e o 18 o

(B) BeH WHIE dHl IR SR
AR

(C) TSPHAR [ 3R Tamdt Afirers
(D) 39w ¥ 4 & ° Alh
(E) 39 § ¥ &g T

A 9 H 7, W oA fHEE aw
gear?

(A) 1908

(B) 1910

(C) 1906

(D) 39T H ¥ TH ¥ ATH
(E) 39w 8§ @ *I8

1913 ¥ o1 § 31gefied afufd i T
ITET Y TATIAT foRee A oft?

(A) TEE= o=

B) @ =

C) =AY |

D) 3W® H ¥ TF ¥ M

(
(
(
(E) 39w 8§ & *I8
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41.

42,

43.

PART—II
( BUSINESS STUDIES )

Which of the following features
is characterized an economic
activity?

(A) Production of goods and
services

(B) Salary or wages

(C) Sale or exchange of goods
and services

(D) More than one of the above

(E) None of the above

Every partner is both an agent
and a principal. Identify the
characteristics of partnership
which has been referred here.

(A) Membership

(B) Risk-bearing

(C) Mutual agency

(D) More than one of the above

(E) None of the above

The Amendment of the Hindu
Succession Act, which gave the
daughter of a coparcener birth-
right to become a coparcener,
was passed in the year

(A) 2001
(B) 2005
(C) 2008

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

44. Which of the following is true
about statutory corporations?
(A) Statutory corporations are

public  enterprises that
came into existence by a
special act of the Parliament

(B) Statutory enterprises are
subject to same accounting
and audit procedures
applicable to government
departments

(C) The employees of statutory
enterprises are civil servants

(D) More than one of the above

(E) None of the above

45. Which of the following sentences
explains the principle of utmost
good faith in insurance?

(A) Premium is computed on
the basis of the assessment
of the proposal form.

(B) A person who enters into
contract has a legal
obligation to act with
honesty.

(C) It is mainly concerned with
how the losses or damages
happen.

(D) More than one of the above

(E) None of the above
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PART—II

( BUSINESS STUDIES )

41. Ffafga 4 @ wF-# foewar G
TR Tty i foreroar srard 87

(A) =Eg3T R Fad A1 IcaTe

(B) <a a1 weigld

(C) aEgatt 3R waredi & fasht =

farfom
(D) 39 U | UH ¥ Afh
(E) 3w & © 18 T

42, TYdI% WIER Uk Tsie 3 fufoma 2t
2| GEEd 39 fEvar w g

oo ==t 3g@ foran T 71
(A) e

(B) Siftaw aga

(C) FToeft ot

(D) 39y H ¥ UH ¥ i
(E) 39w | ¥ HIg T

45.

43. T=fafaa 4 9 e ad 4 wi@ fg
IARERR AR O genyH 4 geerien
# 9 B TSRS T B SHGE

rfersm feam?

(A) 2001

(B) 2005

(C) 2008

(D) 3w U | UH A Afh
(E) 3udth & & *r8 7
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44. Juite el % ar § Fefafaa @ @

FI-91 G 27

(A) Fufrer fm wdwtE s=Tm 8, S
THe & Uw fomm srfufEm gw
Fifedea § 31 #

(B) ATk IT| TWHRI fawrTi T @R
g d@ied 3 e
ufgrati o 31efi9 2

(C) duifier Izl & HHAW fafaw
I B

(D) 37w W § & ° Aleh
(E) 3w | ° *IE e

fefafga 4 @ f9-w g o 8@
I R & TUga il e

27

(A) Hftem St AT TEE YT %
HoATeh o TER T H St 2

(B) gy H Wolml A ATl ATk Hh
R " HmE wH H HEA
IR

(C) 30 & HeY 34 @ ¥ §
g1 a1 &fd 4 2t @

(D) 39w H & TH ¥ ik
(E) 39w 8§ @ *I8 e
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46. Which of the following terms

47.

refers to contracting out some of
its activities to a third party
which were earlier performed
in-house?

(A) BPO

(B) Outsourcing

(C) E-business

(D) More than one of the above

(E) None of the above

Which of the
statements is true?

following

(A) The mental contents of the
good person are called
moral and ethical values.

(B) The final proof of sincerity
and seriousness is the
uncompromising emphasis
on the integrity of character
in a job.

(C) Skills are not enduring due
to fatigue.

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

48.

49,

Consider the
statements :

following

I. The business can ensure
environmental protection by
adopting deforestation.

II. Scientific technique of
sewage disposal could be
adopted by business for
environmental protection.

Select the correct option.

(A) Both statements I and II are
correct

(B) Both statements I and II are
incorrect

(C) Statement I is incorrect and
statement II is correct

(D) More than one of the above

(E) None of the above

The Registrar of Companies
allots a CIN to the company after
completion of all legal formalities
for its registration. What is the
full form of CIN?

(A) Corporate
Number

Incorporation

(B) Corporate Identity Number

(C) Certificate of Incorporation
Number

(D) More than one of the above

(E) None of the above
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46. f=fafed @ 9 ®E-A1 W T0H T

47.

Tfaferfemt 1, ST Usd 3Taid ®9 ° i
St off, el v 9 A s
%l Hefiid =ar 27

(A) sfto dto 3Tto

(B) =AT3e@ItHT

(C) 3-forstm

(D) 3w W | UH § Afh

(E) 37 & & 18 T

frefaftaa & @ ®F-91 %o 9 27

(A) =8 =Afh H TS aEiE H
Iftrer 3R HeER I e S 7 |

(B) UG 3R wefiwar =1 Afag wmor
frdt =@ ° =i i @ear
Gl 9 o el SR 2|

(C) UM % RN Hivret ook 72 o1 @
gl

(D) 39w | ¥ UH ¥ M=

(E) 3w & & 18 T
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48.

49.

o 6 0

frfafiaa seal W faem =t -

[. HIEE S 6 HE ol TR
TR TR G S HehdT 2|

[I. 9o e & foiu =™ g
How fmem it amiie d%e

FTYATE ST TRl B
el faered o1 == i

(A) 2w 1 3R I Tt §

(B) <Ml %o I 3R 11 TIeid &

(C) =M 1 7ol 7; %M 11 62t §

(D) 3 | § TH ¥ A

(E) 3w & & *Ig 7t

FafrEt w1 FoRER ot % S
fore weft St Sfoeierand oft @9 %
a1g 39 Tk CIN 3T&fed #ar 21 CIN
T q0f ®9 FT 27

(A) HANE FHARIE T

(B) HaRe 3Mgefedt Tmr

(C) wféfthehe AT SRTINIM FFeR

(D) 39w H ¥ TH ¥ ik

(E) 39 8§ @ *I§
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50. Consider the following statements

51.

about the international financial
sources :

I. A Global Depository Receipt
(GDR) is a bank certificate
issued in more than one
country for shares
foreign country.

in a

II. A GDR is very similar to
American Depository
Receipt (ADR).

Select the correct option.

(A) Statement I is correct and
statement II is incorrect

(B) Statement II is correct and
statement I is incorrect

(C) Both statements I and II are
correct

(D) More than one of the above

(E) None of the above

are network of retail
shops that are owned and
operated by manufacturers
dealing in standardized and
branded consumer products.

(A) Departmental stores
(B) Chain stores

(C) Consumer
stores

cooperative

(D) More than one of the above

(E) None of the above
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52.

53.

Consider the following statements
regarding the World Trade
Organization (WTO) :

I. WTO classifies member
countries as developing and
developed.

II. WTO acts as a dispute
settlement body.

III. Developing country status

in WTO brings certain
rights.
Which of the following

statements is correct?

A) Statement II only

oy

) Statements I and II only

~

Statements II and III only
D) More than one of the above

(
(
(C
(
(E) None of the above

Which of the following is the

correct formula for the arithmetic

mean?

(A) The formula for arithmetic
mean is the total sum of
values of  observations
divided by the number of
observations

(B) The formula for arithmetic
mean is the total sum of
values of observations plus
the number of observations

(C) The formula for arithmetic
mean is the total sum of
values of  observations
multiplied by the number of
observations

(D) More than one of the above

(E) None of the above
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50. g faxt@ @dl % an § ffafaa

Tl W fomm &t -

[ Tolew feuffsed fofie (Sfo <o
3Ro) U e yuToas 7, S femedt
faesft 2w & IR & fow s @
arfereh 3ot & SIRY foham a2

II. Sfto €lo 3o MR feuifsed
e (To Fo o) F facga

T 2|
el faered o1 == i

(A) o [ Gt B 3R e 11 Terd 8

(B) e I1 Ot 8 3R e [ Terd 8

(C) & e 1 3R 11 &t &
(D) 39Yw H ¥ UH ¥ i
(E) 3w H © 1S T

51. __ @30 FHHI & s &7, I
AHdIFd R Fee IUARRT Ic&l &
ey H ®M G de fmiarst |

e a1 37 Feferd 2 g
A) feurdtea wrd

(B) = &

(C) IUNIH HEHRT WER

(D) 3WI® | € TH ¥ Meh
(E) 3w & & 18 T
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52. fag =R @Med (Sscgo do o) &

53.

Tag 1 fFAfaiad weA W TR =
I. Txgo Ho 3o e &M
foermaefia i fowfaa & w9 #

aiffeha =t 2

II. Tgo FHo 3o TH fomme fuem
o & =9 § %l e 7l

III. Scgo o 3o H fompmefia T
1 ool o ARHR AT 2|

ST FHAA H W T HAA B A A
(A) ad wUA 11

(B) whaet oA I 3R 11

(C) et A 11 3R 111

(D) 37w U 4 T ¥ Afh

(E) ST 4 9 &5 7

sttt mem & o fmfafaa & @

HE-T1 F FE 77

(A) ST WET H T YA
HHEI o FHA AR R TN H T
¥ fawfora & W Ty g @

(B) RN WET HT GA YAV
AEl SR UHUT h GE@d A
RIS

(C) ieprforet wie w1 g Yeroi s
HEAT W TN T T Yeoit % HiH
T FA I 2

(D) 39 H ¥ TF ¥ ATH

(E) 39 8§ @ *I§
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54. The

55.

56.

number of observations
smaller than is the same
as the number of observations
larger than it.

(A) median

(B) mode

(C) mean

(D) More than one of the above

(E) None of the above

The measure of dispersion
which ignores the signs of
deviations from a central value
is

(A) standard deviation

(B) mean deviation

(C) quartile deviation

(D) More than one of the above

(E) None of the above

The time period for which an
index number is determined, is
known as

(A) base period

(B) current period

(C) normal period

(D) More than one of the above

(E) None of the above
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57. The present ages of P and Q are

58.

59.

represented in the ratio as 6 : 4.
Five years ago their ages were in
the ratio 5:3. What are their
present ages?

A) 25 years and 15 years
B) 30 years and 20 years

(

(

(C) 28 years and 18 years
(D) More than one of the above
(

E) None of the above

Alpha and Beta each invested
¥ 10,000 for 2 years at the same
rate of interest of 10% p.a., but
Beta’s investment is compounded
annually and Alpha’s investment
is charged on simple interest.
What amount did Beta receive
more than Alpha?

(A) 150
(B) €100
(C) ¥200
(D) More than one of the above
(

E) None of the above

Margin of safety in break-even
analysis is

(A) Actual sales - Sales at
break-even point

(B) Actual sales + Sales at
break-even point

(C) Actual sales + Sales at

break-even point
(D) More than one of the above

(E) None of the above
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54.

55.

56.

_ U DI Yol sl we, 3H9 a9
equit <l G % 99 Bl 21

(A) wfEeR

(B) =g

(C) e

(D) 39w | ¥ UTH ¥ M=
(E) 3udth § @ 1S T

YU HT TE "W, S e AH A
forerel & Hohdl ohl TST3TEN LT ©, ©

(A) 9 foeEeH

(B) wreA fo=reH

(C) =gei foaem

(D) 3w U | UH § Al
(E) 3w & & 18 T

gz gmaEty, s fou s gEwe
fuffa foren Srar 2, et @

(A) YR afy

(B) @duM Tafa

(C) WM Aty

(D) 3w W | UH ¥ Afh
(E) 3udth & & *18 7
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57. P 3R Q &l IqdW 3 & 6:4 &

58.

59.

A H gl W ¥ utw ad ued
3Tl Y A I 5 : 3 ATl I
A TG T 2 7

(A) 25 ¥ R 15 a9
(B) 30 T4 3R 20 ad
(C) 28 a9 R 18 =
(D) 39T H ¥ TF ¥ IATH
(

AFHT R e, gk 4 10% ufd a9
F A AN @ W 2 Gu & AU
¢ 10,000 =1 fiaw T, @fe sfter @
faw e =wsgts B @ R stew
1 e e s W fan s 21
et F Aew ¥ foRadt Afees Ty umw

Y

(A) ¥150

(B) €100

(C) ¥200

(D) 39w H & TH ¥ ik
(E) 3w H @ *IE 7

oh-Fa fergeror & gram 1 Wiy @

(A) aredfas foshl — wH-T9 fog ™
fersht

(B) ardfas foshl + @@-@y fog =
forshr

(C) ook forhl + wH-aw fog
forght

(D) 39 H ¥ TF ¥ ATH
(E) 39w 8§ & *I§ e
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60. The

61.

62.

Green Revolution was
successful in Punjab, Haryana,
and some
Rajasthan.

(A) Uttar Pradesh

(B) Madhya Pradesh

(C) Gujarat

(D) More than one of the above
(E) None of the above

Which of the following programs
was initiated by the Government
of India to improve the food and
nutritional levels of the poor in
the country?

(A) Midday Meal Scheme

(B) Integrated Child Develop-
ment Scheme

(C) Public Distribution Scheme
(D) More than one of the above
(E) None of the above

Which of the following is not
the problem of human capital
formation?

(A) Rising population is one of
the main problems of
human capital formation in
India

(B) Brain drain is one of the
main problems of human
capital formation in India

standards

problem of
human capital formation in

(C) Low academic
are another

India
(D) More than one of the above
(E) None of the above
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parts of

63.

Which of the following
statements is true about the

unemployment in the rural

sector of India?

(A) Structural unemployment
is a common form of
unemployment in rural
India

(B) Disguised unemployment
is a common form of
unemployment in rural
India

(C) Educated unemployment
is a common form of
unemployment in rural
India

(D) More than one of the above

(E) None of the above

64. Specialized knowledge and skill
is required in which of the
following?

(A) Profession
(B) Employment
(C) Non-economic activity
(D) More than one of the above
(E) None of the above
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60. @i wifq usi, g,

61.

62.

AR

TSR & $9 66l § 9% & |
(A) I U

(B) TeT Yam

(C) T

(D) 3WI® | § TH ¥ Meh
(E) ITF H & #1E T

o H OHE % WISE IR 9 T
UR % U wid @R g7 Fefatad
H ¥ HIF-91 FRwd & Rt T ot

(A) TEATE IS AT

(B) THIhd aTet foshma At
(C) wrewii-eh forazor At

(D) SWI® | © TH ¥ Meh
(E) 3w & 9 18 7

frafafaa @ @ wF- 7Ha §S i
1 guE TE 2

(A) Fedl SHEE ¥Rd H AEE S
fomfor it g waenst § 9 s

(B) Ufa"l U@EM WRd # WA USf
fomfor it gz waenst § 9w B

(C) = wefies aHs wRa § 9E
Isft fomfor <Y ek 7R wmE B

(D) 39w | ¥ UH ¥ i
(E) 3w & ¥ 18 T
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63. YN & UM &% § SUSIRl & oaR H

64.

f=fefaa @ @ =-a1 %o g7 27

(A) HTEATCHSE SRSPTR TrHir aRd |
SUSHTR <1 Teh HETT &9 2|

(B) Y=ad ST T wRa #
SUSTT o1 Teh AT &9 2|

(C) fufa SReemét uvfir wra @
SUSTIR] 1 Teh 9H=T &9 2 |

(D) 37w U 4 T ° Al

(E) 39w 8§ @ *I§ e

frefaftaa 4 @ fored faftre 39 3k
YA hl SR &7

(A) U

(B) USATR

(C) Tr-aiefer mfcfarfer

(D) 37w W | & ° Al

(E) 39w 8§ & *I8 e
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65.

66.

In 1987, the United Nations
Brundtland Commission defined
sustainability as

(A) development which puts the
interests of  developing
ahead of the

interest of rich nations

countries

(B) development which meets
the needs of present
generation without compro-
mising the ability of future
generation to meet their
own needs

(C) development that protects
the future generation even
at the expense of present
generation

(D) More than one of the above

(E) None of the above

societies are
compulsorily registered under
which of the following Acts?

Cooperative

(A) The Cooperative Societies
Act, 1922

(B) The Indian Contract Act,
1872

(C) The Cooperative Societies
Act, 1912

(D) More than one of the above

(E) None of the above
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67. Huge

68.

69.

industrial
extending their industrial and
marketing operations through a
network of own branches in
many countries are known as

organizations

(A) joint ventures

(B) public-private partnership
(C) global enterprises

(D) More than one of the above

(E) None of the above

What is the full form of CWC?

(A) Central Water Commission

(B) Central Warehousing
Commission

(C) Central Warehousing
Corporation

(D) More than one of the above

(E) None of the above

When a property is insured by
more than one insurance (i.e., in
case of multiple insurance), the
insurers are to share losses in
what proportion?

(A) Ratio of premiums received
(B) Ratio of amount assured
(C) Equal ratio

(D) More than one of the above

(E) None of the above

24 [ ANV R RN AR e



65. 1987 H, §Yh UY Fecis AWM A

66.

orar  (Gumefa)
g fera?

w R TR

(B) foerma it afasy it et &t o1t

&Ll Sl T HAT B

(C) var foema St aqa gt it fmd
W off wret digt Sl e et B

(D) 39Yw | ¥ TH ¥ 31fe

(E) 3udth § @ g T

Tewr! wfbfaat # fefafead & @ fra
Afufrm % dq feE w9 ¥ usfiga
fopam ST 27

(A) wEsr |t stfafem, 1922
(B) R 3Tgay Aefm, 1872
(C) wert afufa sifafy, 1912
(D) 3w W ¥ UH § AfUh

(E) 3w & ¥ 18 T

18/HV/M-2023-24 BS (HS)/36-A

67.

68.

69.

FE W W AU TSt & Adah &
meTm ¥ AU e TR foauem
F R wE 9 fowme efenfres
TG 1 el ST &

(A) wgH 3aw

(B) wrestes fosft symfier
(C) aAfsrs 3=m

(D) 3 H § TH ¥ A
(E) 3% # & I 7

CWC =1 i &9 11 37
(A) HZe ST FHHEH
(B) T JTERI FHteH
(C) Tget IIRERIST HIURIH
(D) 37w | T ¥ Al
(E) Swith d & =g 7

S T G S s @ st s
3R fora Sran B (At wetiere oftar %
o ®), @ SiurRdiet S JHaE w
fore STOTd H WTE AT AT 87

(A) e Sfifiemi s sTgaTa
(B) gfara fer &1 srgara
(C) AT FgHTd

(D) 30w H & TH ¥ ik
(E) 3wfeh & & *1$ 7
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70. Which among the following is an

71.

72.

allied service provided by a
bank?

(A) Locker facility

(B) Warehousing facility

(C) Underwriting services

(D) More than one of the above

(E) None of the above

refers to the act of
protecting information by trans-
forming it into an unreadable
format.

(A) Ciphertext

(B) Decipher

(C) Cryptography

(D) More than one of the above

(E) None of the above

What is the full form of EDI?
(A) Electronic Data Interrupts

(B) Electronic Document Inter-
change

(C) Electronic Data Interchange
(D) More than one of the above

(E) None of the above
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73.

Powers, rights, remuneration,
qualification and duties of
directors are discussed clearly
in which of the following
documents?

A) Memorandum of Association
B

) Articles of Association

(
(
(C) Prospectus
(D) More than one of the above
(

E) None of the above

74. A prospectus or statement in
lieu of prospectus is filled with
the Registrar of Companies,
used to be issued by
(A) a public company seeking
investment from public
(B) a public enterprise
(C) a public company
(D) More than one of the above
(E) None of the above
75. A proposed name of company
for registration is considered
undesirable, if
(A) it is identical with the name
of the existing company

(B) it resembles closely with the
name of an  existing
company

(C) it is an emblem of the
Government of India,
United Nations, etc.

(D) More than one of the above

(E) None of the above

26 [MUNTETIRN R Rt RN RO



70. FAffad # @ ®F-H a9 g7 TeH 6

71.

72.

ST ATt J9E, |at 87

(A) @R g

(B) ST gfaen

(C) @mert dard

(D) 39w | ¥ UTH ¥ M=
(E) 3udth § @ 1S T

(D) 39w | ¥ UF ¥ M+
(E) 37dh & & 18 T

EDI %1 q01 &9 11 37

(A) IR ST TR
(B) eI STHgH-2 3etewt
(C) e Sel ge=i
(D) 3w W | UH ¥ Afh
(E) 3udth & & *18 7
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73. Twfafga o @ form sqEs 0 ez

74.

75.

H wfhar, 3rfeeewl, oTiefies, Jerar
3R FHAST i TIT Y Y == 6 TS 27

(A) TEIRTEH 1 JO=

(B) THIfIE % @@

(C) wieFed

(D) 39T H ¥ TF ¥ ATH

(E) St H 9 i &

JiFeE AT UiHdeE % Sl B UH
etz St TR &% o W S g,
™ 3w S R S g

(A) TH HESE FHAA, SHOSHAT A
farer =t 2

(B) [ HESI W

(C) TS HrESI(eh ot

(D) 39w H | TH ¥ ik

(E) 37t o & I8 T

USfieRtor o foTw shut @1 gEarfe A
AT HE ST 2, Al

(A) ¥Ig HISET Ul o 19 % T T

(B) u® forelt wis@m &uft & 9@ @
1t Torerar-sjerdn &

(C) 98 ¥RA LR, GIh T A
et

(D) 37 ¥ 4 T ° Al
(E) 39w 8§ @ *I§ e
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76. The MSMED Act which 79. was set up with prime
addresses the issues relating to objective of professionalizing the
medium scale and service country’s foreign trade manage-
related enterprises’ definition, ment by providing training,
credit, marketing and research and data dissemination.
technology upgradation came
into fi
Hito foree on (A) Export Promotion Council
(A) October 2006 (EPC)

(B) October 2005

(C) January 2006 (B) Indian Institute of Foreign

Trade (IIFT)
(D) More than one of the above
(E) None of the above (C) Indian Trade Promotion
Organization (ITPO)
77. Permission for distribution of
i i th t

services 1 'ano . . countly (D) More than one of the above

under a specific copyright and

tight control over operations is

called (E) None of the above

(A) franchising

(B) licensing

(C) merchandising 80. Data represented through
arithmetic line graph helps in

(D) More than one of the above .
understanding

(E) None of the above
(A) long-term trend

78. Which of the following
documents is not required for S
obtaining export license? (B) cyclicity in data
(A) IEC Number

(C) seasonality in data
(B) Bank Account Number
(C) Letter of Credit (D) More than one of the above
(D) More than one of the above
(E) None of the above (E) None of the above
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76. THo THo TUHo So elo AfIfEm, S

77.

78.

qeqy TR IR AT W Herd ITEl i
qitar, hfge, faqum 3w drenfieh
a9 O gafed gEl Bl Gelfea Far g,
el T gAT?

(A) 3TEHRER 2006

(B) 3FER 2005
(C) S 2006

(D) 39w | ¥ UF ¥ M+
(E) 3ude # 9 i T

fortft fafse idfitge iR d=ed | w2
o % qea foreft s Sw § Fanett &
foraor <t argafa 1 e S @

(NIE-ZIEEL

(B) st

(C) wersfem

(D) 39w | ¥ UH ¥ 3
(E) 3udth § @ s T

frata <iredg uw @ % fou fFefataa
T ¥ HH-U TEIES hl ARl Tal
77

(A) 3TZo So Hio T

(B) e @raT T

(C) wrE-wA

(D) 39Yw H ¥ UTH | 1M
(E) 37 # ¥ =I5 T
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79.

80.

1 ST ufdre, TgHe™ R
221 TER €M Feh <1 % faeuil SR
TSYT H UL S ok G 329 d H
TS off|

(A) Tt gada aftwg (3o dio Hio)

(B) YR foeen =amOR wea™ (3130
3Tgo Tho 2°[o>

(C) YRA™ MR Haeld TeA (3o
2°Io qeto 33ﬁo)

(D) 39 § ¥ TF ¥ IAH

(E) 30w | ¥ 18

STV [T U6 o HIEIH | ST
T 327 T G H HEE Al 8¢

(A) e st
(B) <1 ¥ whiFar
(C) < ® gt
(D) 37w W 4 & ¥ Al

(E) 39w 8§ & *I8 e
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81.

help to integrate formal
credit systems into rural
societies to encourage the habit
of savings among the poor.

(A) Land development banks
(B) Self-help groups

(C) Regional rural banks

(D)
(E) None of the above

More than one of the above

85.

Which of the following is a data
set of first-hand information?

(A) Primary data
(B) Secondary data
(C) Census

(D)

More than one of the above

(E) None of the above

82. Which of the following ljS an 86. Which of the following protocols
advantage of a sole proprietor- .
ship? was followed related to banning

p: the use of chlorofluorocarbon,
(A) Ease of starting a business bromine and chlorine
(B) Direct incentive compounds?

(C) Sense of accomplishment (A) Kyoto
(D) More than one of the above
(B) Appiko
(E) None of the above
o ) (C) Montreal

83. The form of organization which
a public enterprise may take is (D) More than one of the above
(A) departmental undertaking (E) None of the above
(B) cooperative society
(C) statutory corporation 87. Which of the following contracts
(D) MOI‘e thal’l one Of the abOVe is Signed by the promoters
(E) None of the above during the promotion of the

company with the third party

84. When one party grants the other on behalf of the proposed
party, the right to use the asset company?
in return for a periodic payment,
it is known as (A) Preliminary contract
(A) factoring (B) Prospectus
(B) lease financing (C) Memorandum of Association
(C) trade credit
(D) More than one of the above (D) More than one of the above
(E) None of the above (E) None of the above
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88.

89.

90.

Which of the following is not a
feature of privatization policy of
the government?

(A) Implementing the policy of
disinvestment of public
sector units

(B) Reduction of the tax rates

(C) Contraction of the public
sector

(D) More than one of the above

(E) None of the above

In e-banking, the full form of
RTGS is

(A) Rapid
Settlement

Transfer Gross

(B) Real-Time Gross Settlement
(C) Real-Time Gross Scheme
(D) More than one of the above

(E) None of the above

The minimum number of
members required to form a
public company is

(A) 12
(B) 7
(C) No limit

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

91.

Classic Company sold a plant
asset that originally cost
¥ 50,000 for ¥22,000 cash. If it
correctly reports a ¥ 5,000 gain
on this sale, the accumulated
depreciation on the asset at the
date of sale must have been

(A) ¥33,000
(B) 28,000
(C) 23,000

(D) More than one of the above

(E) None of the above

92. From the viewpoint of a share-
holder, which of the following
relationships do you consider of
least significance?

(A) The return on  assets
considerably is higher than
the industry average

(B) The return on equity has
increased in each of the
past five years

(C) Net income is greater than
the amount of working
capital

(D) More than one of the above

(E) None of the above
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93.

94,

95.

In financial statement analysis,
the most difficult of the following
items to predict is whether

(A) the company’s
share is
decreasing

market
increasing or

(B) the company will be solvent
in six months

(C) profits will increase in the
coming year

(D) More than one of the above

(E) None of the above

According to the conceptual
framework, the objectives of
financial reporting are based on

(A) the need for conservatism

(B) reporting on management’s
stewardship and perfor-
mance

(C) generally accepted
accounting principles

(D) More than one of the above
(E) None of the above

The three major types of
business organizations are

(A) mergers, multinationals
and companies

(B) proprietorships, trusts and
companies

(C) ownerships, and

companies

mergers

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

96.

97.

Human Resource Department
of any organization has to
ensure the adequate number of
employees available throughout
the organization. At which level
a human resource manager
works?

(A) Top-level management

(B) Middle-level management

(C) Operational level manage-
ment

(D) More than one of the above

(E) None of the above

One of the organizational
objectives of management is
‘erowth of a business’. Which
one of the following is not
associated with measurement of
business growth?

(A) Sales volume

(B) Number of employees

(C) Number of creditors

(D) More than one of the above

(E) None of the above
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98.

99.

“Management aims at reducing
costs and increasing produc-
tivity.” Which importance of
management is highlighted in
the given statement?

(A) Management helps in
achieving group goals.

(B) Management increases
efficiency.

(C) Management creates a
dynamic organization.

(D) More than one of the above

(E) None of the above

An investor deposits ¥600 in a
bank and plans to leave it there
for four years. The value of the
account after four years if it
earns 10% simple interest per
year for this period will be

(A) T840
(B) 800
(C) ¥810

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

100. Match the objectives of List-I
with their respective definition
in List-II :

List—I List—II

a. Survival 1. Increase in the number
of employees, the number
of products or increase
in the capital

b. Profit 2. A vital incentive for the
continued successful
operation of the
enterprise

c. Growth 3. An organization must
earn enough revenues to
cover costs

Select the correct answer using
the codes given below the Lists.

A) a b C
1 2 3
B) a b c
2 1 3
(C) a b
3 2 1

(D) More than one of the above

(E) None of the above
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101.

102.

18/HV/M-2023-24 BS (HS)/36-A

Which of the following documents
is required in connection with
an import transaction?

(A) Certificate of Origin

(B) Shipping Bill

(C) Letter of Credit

(D) More than one of the above

(E) None of the above

“He believed that an organization
cannot succeed without winning
the confidence of his employees
and for that it is very important
that management and workers
both honour their commitments.”
Identify Fayol’'s principle of
management highlighted in the
above lines.

(A) Discipline

(B) Equity

(C) Esprit de corps

(D) More than one of the above

(E) None of the above

103.

104.

Which scientific
of management
employees to render their
suggestions while taking
important decisions?

principle
encourages

(A) Harmony, not Discord

(B) Science, not Rule of Thumb

(C) Cooperation, not Individua-
lism

(D) More than one of the above

(E) None of the above

Which contemporary technique
of management focuses on
reduction of seven wastes of
production?

(A) Six sigma

(B) Operation research

(C) Lean manufacturing

(D) More than one of the above

(E) None of the above
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105. Which scientific technique/ 107.

work study establishes inter-
changeability of manufactured
parts or products?

(A) Motion study

(B) Method study

(C) Standardization and simpli-
fication

108.

(D) More than one of the above

(E) None of the above

106. The Delhi Government imposes
ban on use, storage, sale and
manufacture of plastic after
considering its adverse impact
on environment and ecology.
Which principle of Fayol is
mentioned in the above decision?

109.

(A) Initiative

(B) Division of work

(C) Esprit de corps

(D) More than one of the above

(E) None of the above

In which business, the support
service activities are categorized?

(A) Commercial industries

(B) Primary industries

(C) Secondary industries

(D) More than one of the above

(E) None of the above

Name the document that
contains details as to the
quality, grade, design, size, etc.

(A) Proforma invoice

(B) Purchase invoice

(C) Sale invoice

(D) More than one of the above

(E) None of the above

Which retail business acts as a
universal supplier of a wide
variety of products?

(A) Departmental store

(B) Multiple shop

(C) Mail-order business

(D) More than one of the above

(E) None of the above
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110. The personnel in chain stores

111.

112.

have to obey the instructions
received from

(A) branch supervisor

(B) general manager

(C) head office

(D) More than one of the above

(E) None of the above

Retailers who have no fixed
place of sale are called

(A) itinerant retailers

(B) street traders

(C) market traders

(D) More than one of the above

(E) None of the above

Which one of the following is the
step involved in setting up a new
enterprise?

(A) Creating a business plan

(B) Making a product choice

(C) Selecting the location

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

113.

114.

115.

Which of the following
statements best describes the
context for entrepreneurship?

(A) Entrepreneurship takes
place in small businesses.

(B) Entrepreneurship takes
place in large businesses.

takes
place in a wide variety of
contexts.

(C) Entrepreneurship

(D) More than one of the above

(E) None of the above

A company needs to obtain prior
permission from the Central
Government when it changes
the address of its registered
office from

(A) one city to another city
(B) within the same city

(C) one State to another State
(D) More than one of the above

(E) None of the above

What has changed the paradigm
of consumer behaviour?

(A) Environmental changes
(B) Technological changes

(C) Economic changes

(D) More than one of the above

(E) None of the above
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116. Which of the following is an

117.

advantage of Internet shopping
for consumers?

(A) Limited product variety

(B) Higher prices compared to
physical stores

(C) Convenient access to a wide
range of products

(D) More than one of the above

(E) None of the above

Which factor refers to consumers’
tendency to rely on the opinions
and recommendations of others
when making online purchase
decisions?

(A) Perceived risk

(B) Social influence

(C) Personal motivation

(D) More than one of the above

(E) None of the above

18/HV/M-2023-24 BS (HS)/36-A

118.

119.

120.

Which type of online consumer
behaviour refers to the
unplanned and spontaneous
purchases made during online
shopping sessions?

(A) Impulse buying
(B) Routine buying
(C) Bargain hunting
(D) More than one of the above

(E) None of the above

Which of the following is the
feature of the marketing?

(A) Needs and wants

(B) Creating a market offering
(C) Customer value

(D) More than one of the above

(E) None of the above

Which type of risk is involved
if a product affects the mental
health of the consumer?

(A) Functional risk

(B) Physical risk

(C) Time risk

(D) More than one of the above

(E) None of the above

= (TR R



116. f=fafaa & @ =1 IudeRT & fog 118. fFE TR &1 AR IUNH HIER

3T TR 1 Uk o1y 27 ATATET IMWT T F SRE H TS
ST 3R 8s TH] ol |afid el
(A) whfird seare fafareran &t
(A) ET H wWiE
(B)E?;ﬁgwﬁﬁwﬁﬁw &) S e
(C) wrearsht fIrpr
©) ;@%%WW*W (D) s & & T & s
(E) 3% # & I 7

(D) SWI® | § TH ¥ Meh

119. ffafaa & @ wR-@ fauom i
(E) 394 § ¥ HIg T forgroan 27

(A) & 3R =T
(B) U STSIR I USRI ST
(C) Tew qed

117. e @ie FoE od a9 ged i (D) 39T § ¥ T ¥ Al

T AR e ® wE W % g

urEret Al Tt A FE-T wRE (E) 39w 8§ @ I8 e
gefifa s 27
120. 3 FHIE IUE IUHHT & AHHS TTEey
(A) o Siifem F AT Al €, @ R TR
Shiftam sfiyer 27
(B) e (A) FETcs JfEy
(C) =afermTa Jzom (B) wmifess Siiftaw
(C) w9 Shftaw
D T U g s
) s (D) 39w H & TH ¥ ik
(E) 30 § & #rE 7 (E) 3wfeh & & *1$ 7

18/HV/M-2023-24 BS (HS)/36-A 45 [ AR p..o.



SPACE FOR ROUGH WORK / T& & & feTu Tere

18/HV/M-2023-24 BS (HS)/36-A 46 I NNV IR U ORETRRRRARTR e



SPACE FOR ROUGH WORK / T& & & feTu Tere

* Kk Kk

18/HV/M-2023-24 BS (HS)/36-A 47 AR p.r.o.



18/HV/M-2023-24 gt @t

ITHIEAR T IATHATH

A

T -GiETeht
T 38T Ue SATAHTIeh T
[ w2 | R (gt : 120 )

91 % ST 3 W Ugd 9 fore 1R i oA @ ug o |

10.

11.

12.

13.

14.

"YUl I

. I8 JA-gfEqert @1 9rT § fawiior 2, 9-1 e 91| -1 § S s1eaes a1 w11 | SanaEtties steaan o

IH 2|

. 9T-I § Y9 G4 1 § 40 a% 997 9T-II § 93 §&a1 41 § 120 a% & | gt T97 3R 37k I il e 2wt

# giem ¥

aft g % i gue F

WWI-1 T 9W-II & ST o I Q|

AT TN T AT S T -gieaent i A R 3@ o TR 3k I I ok wvA-gfeaet i e

gfsa 81 o Ata o fok gieae & W *1 3 3 USt (I8 Ho 46@147)?&3@485&3@8%@1@%
T AT YE AT SUT I AT WT AT AT ST AT gAT A AL 2 | Iiereht ot gehw Y i um W Aewr
TAF TEd T W h g T g | o)

M I8 & SR Fuifa e § 1o sigwed e ford | we-gfers | SR 3w T fow

el o I A o foTu 2mmueRt fiereh g1 A1e | I Uk feI SR ST SR Uses o Us-1 W Ruifa wum |
SIUAT AW, IIHATH, TA-JRahT JEEAT 9T 3T [awur 1ava foTd 1= STueht TR ek Wram gt
St

. W WF & y5-2 W Fuifd e 4 o ergwHie aur uvA-yfee d g@en A, B, C A1 D S W

-GGl % TN 98 % S <t 3R sifEd g, ﬁw?%qaﬁ%wﬁ/ﬁ?ﬁw@%wmﬁqﬁm
FeTF, i | IR Uk W AIA-YIeehT FEert ifehd TE i TS TAq J@AT 3ifehd i W I U=k T TE
TR &t BRT|

A% T % ur" IT—(A), (B), (C), (D) 3R (E) #7 W & ™ §| 378 | 319 god TE et Uk IW A G
I 3T I IAF T 3ATehd | T T o foIU haet Uek & 3T A1 2| ST et UTHTS A9k ZRT 3 0 §
siford et 3T W Feie wom)

IW TE § YAF T T % WA 9 99 39 TER 94 gL E—@), B, ©, @ 3R B WA % IW ¢ & fou

IIRT T T % hael Ueh I ! hicit /et et & ia-urge U4 @ fafed w5 21 veds 9w & fou hea o

I A G A I 3T IW Tk § fafed w1 o 3w ek # Afe vk g % fore uek @ stferss g9 # e e 2,

ql IR 3T eI AT SR | SR Ueleh § 7R ! Terfga & o ToTu shaer shieft /et @met & sta-dige o=

& AR R TR ot TER HT FwE-fe Uar uiEdd A A8 R

IriEaR ERT Tk T9H o Terd 3R o foTe 9ed 3g Fra ford T o7aht 1 ueR-=iteg 3ie gUe o ®9 § el SR |

TRA-fETRT | T T BISAT AT ST HAT T & | -G 3R I e b WA SEty § e ad ¥ A

AT A o S | URIETT o |HTIA WX IR Uk S1eTeh Shi 3Ta9d WY & | 30k 18 3TTIeh! 37T S -f&qent 310 a1

o 1 A e R

FR % I H Y FoRelt we h off arer € A W ST W AT o faaeRigER HRaTE il S HehRdt @ S1uaT ST

Tug T S weRar 21

%’”Q% I T I 0T 3UFEART H Self Adhesive LDPE Bag § T @%@ & o /€iel sam o 3IWa &t wiamhe
|

Note : English version of the instructions is printed on the First Page of this Booklet.
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